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(1) Specialty contractor 

(2) Procurement 

(3) Request for proposal 

(4) Constructability 

(5) Life cycle assessment 

(6) Construction disputes 

2. Please list and explain the methods used to measure construction work progress (.Q~.I-jj!J.i 

{fJ.jjJ:7J*). What are their advantages and disadvantages? (15 1}--) 

4. ~ntHt.I-11 '1~J..t9:1~kj•J 4/30 • Jt11~W~4-lto* 1 o ~t;(f.$-~~_t_~?l* 2 • JtJ:tA 
# 25 11m ~t% 0 (20 1}--) 

11 Mj{t A 4/16 4/22 5 12,500 

12 r~tt B 2 5,ooo 

13 r~ tt c 4130 2 5,ooo 
14 nt,ft D 4/23 4/29 4 10,000 

11f No. BCWS BCWP ACWP SPI CPI 

11 100 12,500 10,000 
12 0 0 0 
13 5,000 3,000 0.83 
14 10,000 12,000 1.0 
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5. ~.r..~11~W;f4-ltoT , ~ (20 1!-) 

(1) ttJf-~11~~-¥-, Jit!!ta:tM , ~~H1-a:t' M~Mi*1tkl£-* o 

~ •ili~~·aili*a·•ilit-¥--t!!t*M~J£*••~· 

11~ .I-jt_ij l£* 1!~11~ 

A 3 1,400 C(SS 2) 

B 4 1,000 E(FF 4) , F(SS 3) 

c 1 500 D(FF 3) 

D 4 6,400 

E 5 2,500 D(FS 2) 

F 8 8,000 D(SS 1) 
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